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Part A General English

1. Out of the given four sentences, choose

the one which is grammatically correct.

a. | have drop the vase and it broke into
pieces.

b. | dropped the vase and it broke into pieces.

c. | dropped the vase and it have broke into
pieces.

8. John Herschel was ............ urbane,
kindly and generous man.

a. No article required b. the

c.an d.a

9. Out of the given four options, choose
the correct conjunction to fill in the blank

giveng entence.
t they can,
d. | dropsthevaseandit has E)ba‘lppgee Iﬁa nf properly.

2. Out of the given four sentences,

choose the one which is grammatically

correct.

a. He has been living in New York for 1993.

b. He has been living in New York since
1993.

c. He have been living in New York since 1993.

d. He have been living in New York from 1993.

3. Out of the given four words only one
is spelt correctly. Find the word that is
correctly spelt.
a. Siege

c. Sugestable

b. Saperate

d. Siimiliar

4. Out of the given four words only one
is not spelt correctly. Find the word that
is not correctly spelt.

a. Scissors b. Sandwitch ¢. Survive d.
Success

5. Fill in the blank with the correct
article.

............ discovery of anaesthesia
transformed medical surgery.

a. An b. The

c. No article required d. A
Directions (Q. Nos. 6-8) In each
of these questions fill in the blank with
the correct preposition.

6. A Major-General is ............
in the British army.
a. above b. from

a Brigadier

c. off d. into

7. My mother bought many loaves

a. but b and c.or d. else

10. Out of the given four options choose
one to join the two sentences given
below to make a meaningful sentence.
Rini is slim. She wants to go on a diet.

a. Because b. Yet  c. Therefor d. Since

11. Out of the given option choose the
most appropriate one is fill in the blank

Computers ............ perform millions of
calculations every second.

a. can b. ought to have

c. could have d. dare

Directions (Q. Nos. 12-13) Find
the word which can be replaced for the
given sentence.

12. A building for lodging of soldiers.
a. Hive b. Barracks
c. Aquarium d. Auditorium

13. A life history of a person written by
somebody else other than the person
himself.

a. Autobiography b. Biography

c. Fable d. Metaphor
Directions (Q. Nos. 14-15) In the
given sentence there might be an error.
Find out which part of the sentence has
an error. If there is no error, mark your
answer as (d) i.e., ‘No error’.

14. None of us are (a)/ going to the marriage
party, (b)/ aren’t we? (c) No error (d)

Directions (Q. Nos. 16-17) A
sentence with an underlined idiomatic
expression is given. What is the
meaning of the idiomatic expression ‘in
the sentence given below?

16. It goes without saying that you will

improve your skills with practice.

a. It should be considered impossible

b. It should be generally understood or
accepted

c. None of the above

d. It is beyond common understanding

17. For most people a visit to the dentist
is the result of a choice between the devil
and the deep blue sea, if you go you
suffer, and if you don't go you suffer.

a. having only two very pleasant choices

b. having nightmares

c. None of the above

d. having only two very unpleasant choices

18. A sentence with an underlined word
is given below. Find the word which is
most similar in meaning to the
underlined word.

The company deceived customers by
selling old computers as new ones.

a. cheated b. justified

c. pleased d. benefitted

Directions (Q.Nos. 19-20) A
sentence with an underlined word is
given below. Find the word which is
opposite to the highlighted word from

the given options.

19. They enlarged the house by adding
an East wing.
a. decorated
c. increased

b. strengthened
d. reduced

20. One by one the old buildings in the
city have been demolished and replaced

with modern tower blocks.

. .. bread from the bakery. 15. The Pacific Ocean (a)/ is deeper than  a. ruined b. constructed
a. from b.on c. by d. of (b)/ Arctic Ocean. (c) No Error (d) c. destructed d. razed
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Part B General Science

21. Glucose is oxidised to ethyl alcohol in
a. aerobic respiration

b. anaerobic respiration

c. fermentation

d. None of the above

22. The process by which chemical change
takes place in a substance when electric
current is passed through it is called

a. Electroplating

b. Electrodes

c. Electrolysis

d. Thermionic conduction

23. Lichen represents

a. symbiotic association of an alga and a
fungus

b. parasitic association of an alga and a
fungus

c. mycorhizial association

d. commensalism

24, If a given force is applied on a
smaller area of contact the pressure
exerted by it

a. decreases b. increases

c. does notchange d. None of these

25. The phenomenon of the change in
the path of the light as it passes from one
optical medium to another is called

a. Refraction of light

b. Dispersion of light

c. Both (a) and (b)

d. Reflection of the light

26. Site of protein synthesis is the

a. ribosomes b. nucleosomes
c. lysosomes d. dictyosoms
27. The loudness of a sound depends
upon its

a. frequency b. pitch

c. amplitude d. None of these

28. Which combination of chromosome
is capable to determine the sex of a child?
a. YX b. YY c. XY d. XX

29. Lubrication of moving surfaces
a. increases friction

b. removes friction

c. has no effect on friction

d. reduces friction

30. High boiling point of water is due to
a. its high specific heat

b. high dielectric constant

c¢. hydrogen bonding

d. low dissociation constant

31. CO, and O, balance in atmosphere is
due to

a. leaf anatomy

c. photorespiration

b. photosynthesis
d. respiration
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32. The number of unpaired electrons in
carbon atom is

a3 b. 4 c.2 d 1
33. ‘Controller of cell is a

a. nucleus b. genes

c. vacuoles d. mitochondria

34. A monochromatic beam of light
passes from a denser medium into a rarer
medium. As a result

a. its wavelength decreases

b. its frequency decreases

c. its velocity increases

d. its velocity decreases

35. Which of the following is not a
natural polymer?

a. Starch b. Glyptal

c. Glycogen d. Cellulose

36. Which of the following is the most
essential for an electric circuit to work?
a. A switch board b. A switch

c. None of these d. An electric current
37. The heat energy emitted by Sun
reaches the Earth through

a. convection b. radiation

c. conduction d. None of these
38. In which of the following processes
light is absorbed?

a. Photosynthesis

careersIELom

b.MIC
d. None of these

a. COCI2

c. phosgene

40. Glauber’s salt is
a. Na,S5;03:4H,0  b.Na,5,0;.5H,0
¢. Nay,C04.3H,0 d. Na,S0,.10H,0

Part C General Knowledge

41. As per the Census 2011, the
population of Madhya Pradesh is almost
a. 7.7 crore b. 7.3 crore
c. 7.5 crore d. 7.1 crore

42. On which of the following dates did
Jayant Mallayya present the annual State
budget of the financial year 2017-18 in
the Legislative Assembly?

a. February 28 b. March 3

c. March 1 d. March 2

43. Ahmed Sher Khan is associated with
the game of

a. Hockey b. Shooting

c. Archery d. Football

44, Parsili is situated in the district of
a. Sidhi b. Indore c. Bhopal d. Mandsaur

45, In which year was the Narmada Valley
Development Authority established?
a. 1988 b. 1987 c¢.1985 d. 1986

46. In which year was the Madhya
Pradesh State Forest Development
Corporation established?

a.1973 b. 1975 ¢. 1979 d. 1977

47. In which village is the Fair of Nagaji
held?

a. Bhamavad b. Ghoghara

c. Sanwara d. Porsa

48. Where was the second capital of
Chandragupta 11?7

a. Vidisha b. Ujjayini

c. Sanchi d. Maheshwar

49. Who has been recently appointed as
the Chief Secretary of Madhya Pradesh?
a. Neeru Chadha b. Sahithi Pingali

c. Basant Pratap Singh

d. Raja Girinder Chari

50. Which of the following
Mahal/Temple is located in Gwalior?
a. Jahangir Mahal

b. Sahastrabahu Temple

c. Rani Roopmati Mahal

d. Madan Mohan Palace

51. Which of the following rivers
originate from the same plateau?
a. Narmada and Sone

b. Narmada and Betwa

c. Shipra and Narmada

d. Shipra and Sone

52. Which of the following cities was
earlier called Narmadapuram?
a. Jabalpur b. Hoshangabad
¢. Bhopal d. Gwalior

53. Which of the following stadiums is
not in Indore?

a. Nehru stadium

b. Holkar stadium

c. Abhay Knhel Prashal

d. Thakur Ranmat Singh stadium

54. Which of the following States doesn't
border Madhya Pradesh?

a. Karnataka b. Uttar Pradesh

c. Gujarat d. Rajasthan

55. Which department does the Madhya

Pradesh Water and Land Management

Institute come under?

a. Home Department

b. Panchayat and Rural Development
Department

c. Department of Mineral Resources

d. Public Works Department

56. Who was the first Speaker of Madhya

Pradesh Legislative Assembly?

a. Kashi Prasad Pandey

b. Ishwardas Rohani

c. Pt. Kunjilal Dubey

d. Dr. Sitasharan Sharma

45




Solved Paper madhya Pradesh Jail Prahari/van Rakshak Recruitment Exam 2017

57. Who was the first Governor of
Madhya Pradesh?

a. Kailash Joshi  b. Pattabhi Sitaramayya
c. Sarala Greval d. Ravi Shankar Shukla
58. Who was the first Chief Justice of
Madhya Pradesh High Court?

a. Rohan Sachdeva b. Dayashankar Naag
c. M. Hidayatullah d. HS Kamath

59. Which poet is known for the poem
‘Rasik Priya’?
a. Padmakar
c. Ghananand

60. The Kaytha sites related with
Chalcolithic culture is in the district of
a. Indore b. Bhopal c. Ujjain  d. Guna

Part D General Hindi

61, ‘T & fady g 8
a. 99T b. AAD c.
62. T’ Weg &

a. da” b, GH c. agHd  d. ¢
63. ‘TEw wex FT o A B

a. Jddy b. TEDIAA

c. ¥R d. UHg A1

64, "'qH qTT FaT | SR B B AT
a. JSTHAS a1 b. FTORTD G
c. fRumaEs g d. Geaeds agy
65. ‘grea’ f wfRr &

a. 0T ¥R QY b. guT ¥R |
c. @ Al d. fawnt wfF

66. o<t el st € &, arew &
a. ¥AHAIYS Al b. fAAuaREs G
c. feomates dvaT o, faftryEs demn

67. ‘aquE’ wes H ud 8

b. Bhushan
d. Keshavdas

d. g

a. g b. 3 ¢ T d K3
68. ‘v’ ug # wuw #
a. JegdE b. G c. $HURAd. g5

69. ‘i fag o7 fat ¥, o gf-gH

oTd gt ¥ ufga d 2

a. UHT cipR b. 3FNfET SR

c. fq9mifaa seerR o, AfgeEifds acer

70. ‘Sra-d9 ST gETaR HT SR B

a. MT-@et GRAT b, ETEHEA Bl

c. G8F1 & d. UG &1

71 ‘Archive’ &1 fa=d) uRwifies wreg &
b. T c. T d. 3MicH

72. ‘udd’ Weg &1 unigarE 8

a. it b, =m c. afe o A ot
73. ‘@usar 5 § ardt S 9t

areft 8 -
a. FEEl b, gt c. gl d. Hiel

74. uredt aielt et 8
a. ydf &= & arefa
b. fagrt i<l & arnid

c. IR Bl & aFid
d. ufeadt fa=dt & 3t

75. 9T TIRY ¥ U wifsfus ufier @

a. ¥ b. YNE U c. 3 d. IgHd

76. s feddl ot $fd 8
s o S 1 e

cf%rﬁqva‘a#ﬁ@ d,G{-'-ImdiTCﬁEH

77. PreifiRea § e weg-gm Tdf &

a. T-&eY b. 3CA-ERA

c. Hi8-g=EH d. fe-gfea

78. Fr=fafes ¥ g a=g 8

a. 98 9C 3% AT

b. Adnft #9 W 4 &el|

c. gfiy 98 gaeler 2
d. S IHB A W T4 &7

79. Preafafed § g g 8

a e b. " ¢ W3 d o
80. fr=fafles & gvr=ala s
ee-gW TE B

a. ae-aEl b. W

c. I9-39 d. JGH-NTqF

Part E General Maths

81. Find the wrong term in the given
number series.
3,5, 11, 29, 87, 245

a. 87 b. 11 d. 245

careersdY:com

perfect square.
a. 45 b. 38 d. 30

83. A cistern is normally filled in 8 hours,
but takes another 2 hours longer to fill
because of a leak in its bottom. If the
cistern is full, the leak will empty it in
a.20h b.16h c.40h d.25h

84. The successive discount of 15%, 20%
and 25% on an article is equivalent to the
single discount of

a.60% b.47% c.40% d. 49%
8_5. The roots of the quadratic equation
¥ +3y+2=0are
a-2-1 b.21
86. If the side of an equilateral triangle

is 28 cm, find its perimeter.
a.8lcm b.82cm c.84cm d 83cm

c. 40

c.—-4,1 d 41

87. An isosceles right-angled triangle
has an area 800 cm”. What is the length
of its hypotenuse?

a. 65cm b. 40 cm

c. 40\(’2_ cm d. 30J2_ cm

88. A, Band C undertake to do a work
for T 707. A and B together do 5/7 of the
work and rest is done by C alone. How
much wages should C get?

a.3200 b.T102 ¢.T202 d.?T150

Directions (Q. Nos. 89-90) What
should come in place of the question
marks in the following
question/question series?

89. 9932 + 882+ 314 —?=7171 + 630

a.3227 b.3327 ¢ 3723 d. 3273
90. 350, 372, 396, ?, 450
a. 442  b. 418 c. 422  d. 426

91. If a number is greater than 5 but less
than 9 and greater than 7 but less than
11, the number is

a.Bg b.7 c.6 db5

92. The simple interest on an amount at
the rate of 5% per annum for 2 years and
3 years are respectively ¥ 100 and. ¥ 150,
Find principal amount.

a.¥5000 b.T8000 c.¥1200 d. T 1000

93. If the mean of five observations
x,x+2 x4+ 4 x+6and x + 8is 11, then
the mean of the last three observations is
a. 13 b. 17 c. 15 d 11

94. The lengths of two trains are 154 m
and 246 m and they are running towards
each other. The speeds of these trains
are 52 km per hour and 28 km per hour,
respectively. How much time will they
take to cross each other?

a.14sec b.12sec c.18sec d. 10sec

95. Divide 94 into two parts in such a way
that fifth part of the first and eight part of
the second are in the ratio of 3 : 4 is

a. 20,44 b. 30,64 c.35 69 d. 34,60

96. Two trains running in the same
direction at the speed of 40 km per hour
and 22 km per hour completely pass one
another in 1 minute. If the length of the
first train is 125 m, the length of the
second train is

a. 125m b. Can't be determined
c.175m d. 150 m

97. The population of a town is 8000, If

the males increase by 6% and the females
by 10%, the population will be 8600. The
number of females in the town are

a. 2500 b.4000 ¢ 3000 d. 3500

98. At present, the sum of the ages of A,
Band Cis 150 years, whereas 10 years
ago, the ratio of their age was 5:4:3
respectively. Find the ratio of their ages
10 years hence.

a.695 b. 765 435 d753
99. Find the smallest of the following
fractions

a. 5/6 b. 23/37 c¢.51/49 d. 43/54
100. Find the largest of the following
fractions.

a. 453/584 b. 231/349c¢. 759/894 d. 352/478

46

Current Affairs.com September 2017



Madhya Pradesh Jail Prahari/Van Rakshak Recruitment exam 207 Solved Paper@

& Hints and Solutions

1. (b) When he principal clause is in Past 25, (a) Refraction of light occurs when there
tense then the subordinate clause will also be  is a change in the path of light as it passes
in Past tense. Hence, option (b) has the from one optical medium to another. It is
correct sentence. due to the change in density of
2. (b) Subject 'He' takes the helping verb transmission medium.
‘has’. Also with point of time, we use 'since’. 26. (a) Ribosomes are the site of protein
so, (b) is correct. synthesis. They are present in cytoplasm or
3.(a) 4. (b) attached to endoplasmic reticulum and
5. (b) When anything of substantial help iniormatian of proteins.
importance is diSCOVEred, ‘the' is used. 2? (C} The loudness of sound dependﬁ on
6. (a) To show a superior rank, ‘above’ is its amplitude. _
used. It repesents the maximum displacement of
1.(d) 8. (c) a wave and the extent to which air particles
g TR AL ’ are displaced.
i ntr. ‘but’i ; "

() Tashow E.l SeRIE " il 28. (c) XY chromosome is the

10. (b) The two ideas are is contrast to each sex-determining chromosome in a child.

other, use, 'get’ to join them.

29, (d) Lubrication is the process of
11. (a) Ability is shown by the use of ‘can’. () Librieation pr

applying oil or grease to reduce or

12. (b) 13.(b) minimise the friction of the component and
14. (c) The tag will be ‘aren't they?' When ensure smooth movement.

indefinite pronoun ‘none’ is subject then tag 30. (c) High boiling point of water is due to
takes ‘they’ as subject. hydrogen bonding present in water.

15. (¢} Use 'the' before Arctic Ocean foritone  Hydrogen bonds gives water a strong
of a kind. attraction which requires a lot of heat and

16. (b) When one practise, there is always an ~ energy to break the bonds. Therefore, they

improvement. Hence, the phrase that is have high specific he

suitable here is, ‘It should be generally ! rrgimt A

understood or accepted.’ E af;&a%g p‘g E[ I I
whi nCO,

17. (d) The sense of e sentence clearly process by which green plants take-i
suggests that both the choices are from the atmosphere and convert it into
unpleasant equally. Hence, ‘having only two organic compound thereby releasing

very unpleasant choices' is correct. oxygen.

18.(a) 32. (¢) The number of unpaired electrons in

19. (d) ‘Enlarge’ means 'to make something carbon atom s (2).

big'. So, the antonym will be ‘to reduce’. 33. (a) The controller of cell is nucleus. It
20. (b) ‘Demolish’ means ‘to destroy’. Hence contains all the material required for cell
the antonym will be ‘constructed’ which functioning and division.

means ‘to make'. 34. (¢) When a monochromatic beam of
21. (c) Glucose is oxidised to ethyl alcohol in  ight passes from a denser to rarer
fermentation. In this process, sugars are medium, its velocity increases because of
converted into acids or alcohols. It occurs in ~ refractive index.

yeast, bacteria and in muscle cells. 35. (b) Glyptal is a not a natural polymer. It
22.(c) Electrolysis is the process by which is a chemical compound formed by
chemical changes takes place on passing condensation of polymers i.e., reaction of

electric current. The current is passed through ~ glycerol and phthalic acid.

a dissolved solvent and reactions takes place  36. (d) An electric current completes an
at electrodes called Electroiyte. electric circuit. It is the flow of charge
23. (a) In lichens symbiotic association of an  carried by wires in electric circuits,
algae in lichens and fungus is represented. The 37, (b) The heat energy emitted by Sun
fungus gets benefits from alaga because they  reaches the Earth throuh radiation.

produce food by photosynthesis and algae in  Ragjiation doesn't require any medium.

turn is protected by filaments of the fungus and
gets ar?chor. d . 38. (a) Photosynthesis takes place in the

prosence of sunlight. The rate of
photosynthesis depends upon the
absorption of light by pigments present in
plants.

24. (b) The amount of force applied universely
varies with the area of contact i.e., if the area
of contact is smaller, the force is increased
and if area of contact is larger force
decreases.
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39. (b) The gas that was released in Bhopal
gas tragedy was Methyl Iso Cyanate (MIC). It
is a clear colourless gas used in
manufacturing of pesticides. It is poisonous
and a tearing agent. Its molecular formula is
H,CNCO.

40. (d) Chemical formula of Glauber's salt is
Na, 50,.10HJ0. It is a white or colourless
crystalline powder, which is soluble in water.
It is used in medicines as a mild laxative and
in dyeing industry.

M. (b) As per details from Census 2011,
Madhya Pradesh has population of 7.27
crores, an increase from figure of 6.03 crore
in 2001 Census. Total population of Madhya
Pradesh as per 2011 Census is 72626809 of
which male and female are 37612306 and
35014503 respectively.

42. (c) The Madhya Pradesh Finance
Minister, Jayant Mallayya, presented the
Budget for Madhya Pradesh far the financial
year 2017-18 on March 1, 2017. The Gross
State Domestic Product of Madhya Pradesh
at current prices for 2017-18 is estimated to
be T 735246 crore. This is 13.9% higher than
the revised estimate for 2016-17.

43. (a) Ahmed Sher Khan (November 1,
1912 - March 13, 1967) was an Indian field
hockey player who competed in the 1936
Summer Olympics. He was a member of the
Indian field hockey team, which won the gold
medal. He played one match as forward.

44. (a) According to Census 2011
information, the location code or village code
of Parsili village is 503085. Parsili vilage is
located in Majhauli Tehsil of Sidhi district in
Madhya Pradesh (India). It is situated 20km
away from sub-district headquarter Majhauli
and 60km away from district headquarter
Sidhi.

45. (c) Narmada Valley Development
Authority (NVDA) is the lifeline of Madhya
Pradesh. With 87% of its catchment

area lying in Madhya Pradesh, it becomes
the more important for the State to exploit
this enormous water resource. It was with
this motto in mind that the Narmada Valley
Development Authority (NVDA) was formed
by the government of Madhya Pradesh on
August 9, 1985.

46. (b)

4]. (d) Nagaiji Fair is celebrated in a district
of Madhya Pradesh State, Murena with huge
enthusiasm and excitement. It is celebrated
and organised by the tribal people in the
Porsa village in Murena, (Madhya Pradesh).
The celebration lasts for a long period of
time, around 1 month.
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48. (b) Victory over Malwa helped in
prosperity of the Malwa region and Ujjain
became a commercial hub. Some scholars
call Ujjain his second capital. Chinese
traveler Fa Hien had visited India during the
time of Chandragupta Il.

49, (¢) Senior Indian Administrative Service
(IAS) officer Basant Pratap Singh was on
Thursday appointed as the new Chief
Secretary (CS) of Madhya Pradesh. The IAS
officer of 1984 batch (MP Cadre) will
succeed Anthony De Sa who will be retiring
from the service on October 31, an official of
the Public Relation department of the
Madhya Pradesh government.

50. (b) Sas-Bahu Ka Mandir, or Sahastrabahu
Temple, is located to the East of Gwalior Fort.
Built in 1092 by king Mahipala of the
Kachchhapaghata dynasty, this temple is one
of the greatest architectural marvels situated
by Gwalior Fort.

51. (a) The Sone originates

near Amarkantak in Madhya Pradesh, just
East of the headwater of the Narmada river,
and flows North-Northwest through Madhya
Pradesh State before turning sharply
eastward where it encounters the
Southwest-Northeast-Kaimur Range.

52. (b) Narmadapuram Division is one of
the administrative divisions in

the Indian State of Madhya Pradesh. The
division was formally inaugurated on August
27, 2008. It comprises Hoshangabad,
Harda, and Betul districts. The three districts
were earlier part of Bhopal Division.

53. (d)

54. (a) The State is bordered on the West by
Gujarat, on the North-West by Rajasthan, on
the North-East by Uttar Pradesh, on the
East by Chhattisgarh, and on the South by
Maharashtra.

55. (b)

56. (c) Pt Kuniji Lal Dubey was a member of
the Madhya Pradesh Legislative Assembly.
He held charge as the Finance Minister in the
State government of Madhya Pradesh in
1967 .He remained on the post of Speaker
from November 1, 1956 to March 7, 1967.

57. (b) Prior to this Pattabhi served as a
member in the Constituent Assembly. In 1952
he was elected to Rajya Sabha. Pattabhi also
served as the Governor of Madhya Pradesh
from 1952-1957. He established Andhra
Bank in Machilipatnam on November 28,
1923 which is currently one of the

major commercial banks of India.

58. (c) On December 12,1942, M.
Hidayatullah was appointed as the
government Pleader in the High Court at
Nagpur. On August 2, 1943, he became the
Advocate General of Central Provinces and

Berar (now Madhya Pradesh) and continued
to hold the said post till he was appointed as
an Additional Judge of that High Court in
1946.

59. (d) Keshavdas Mishra (1555 —1617),
usually known by the

mononym ‘Keshavdas' or 'Keshavadasa’,
was a Sanskrit scholar and Hindi poet, best
known for his 'Rasik Priya’, a pioneering
work of the 'riti kaal' (procedure period)

of Hindi literature.

60. (c) Kaytha or Kayatha is a village and
an archaeological site in the Ujjain

district of Madhya Pradesh, (India).
Several Chalcolithic sites have been
discovered in the Malwa region of Central
India. The site at Kayatha, situated on the
right bank of the Choti Kali Sindh river is

the type site of this culture, known as
‘Kayatha culture’.

61. (b) ‘T’ @7 el & QTR | 3 aHd
@ e el srfd v 8|

62. (c) & g, ST ARpd W Fed~T AT
faeRid 80 &, 3 dgua veg dEeld & 3:
M agHa e Bl

63. (b) ‘TE’ gieg iy, TiBR R A,
Uhg A1 b Fed F uged gar &) I

aag T B e BET B 9 e ol
3T € O W B, 3 & IEREES A &l
65. (d) forat & 1y <) ar &oe & dan
o faer g &, 39 faat af sad 2
‘TR 1 i s dg 5 Y, I
e aR R S am o, ¥, @
T &l 98 FAe: 9, ¥, 9 4 95a o 2l
66. (a) RO a9g § ‘g@l’ e FUH &l
aer a1 2@l 81 3 e mn aran eas
He @ i g g

67. (b) ‘I3 oeg # ‘anE’ o H AGuE’
91eg, &1 2|

68. (a) ‘RO gREC o AHI-faE &9
g | I8 eI FA BT SRR 2
o 9 & wed ue wae @ ol 98
ferargfadve s &, 99 ‘sreadiyE’ wHK
Ped 8l

69. (b) ST TR & avi GRT 8l TRl &l
Ay @R Sl 2 dd Ff SefER 2 2
70. (d) ‘HE-TE B YRR B A
WU~ 81T &

. (a) 98 VIH i@ QIecd gogfafiat g
Jferal & FHIER T o 8, 99
‘Fftoramr’ anfees geg @ afeqifee fasan
T 2

Cd

12 (d) iR, 7w, 3fg anfe @t oreg geiad &
wafgardt &g Heem 21

73. (a) ‘@usar’ foiet ¥ diel 5 arelt dteft
Tl 2

4. (c) A, Fardt, ARare!, Fagd anfe

et aferal st &= Suwm & el
areft 21

75. (a) Hea weel | yalfae |ifefces ufie
AT 2

76. (d) ‘IR @ e’ gwRiERE ad
@ SUGRT 8, o gfie SR deur ol

Grex JH=ay T i g

. (d) ‘RA-gfer’ fem gec-gm 78 8,

s ‘A’ & faam ‘v’ B 21

8. (c) araxitie gfte & gg ara Tl

9% gaeeR &' 2l

79. (c) WS 9%, I 8, Fifd g gt
ghte 9 gg 9 99 Bl

80. (c) IH-A7 Ie5-gH TS U 2,

zufery ag frede ge-gm a8 2|

81. (a)

83
3 5 1 29 245
e AN AN A
+2 +6 +18 +54 +162

Therefore, 40 must be subtracted from

18265 to make it a perfect square.

83. (c) Time taken to fill cistern = 4 hours

Time taken to fill cistern because of leak
=10 hours

Let, the time taken by leak to empty the tank
is

1 11 2 1
—_——— = - = — = —
8 10 «x 80 x
x=40h
84. (d) Equivalent discount of 15% and 20%
=15+p0~-2%XD . ac_ 3. a0
100

Equivalent discount of 32% and 25%
. T i S WY

~. Equivalent discount = 49%
85.(a) y°+3y+2=0
=y +2y+y+2=0
wy+2)+ 1{y+2)=0
(y+2)(y+1=0
y=-2-1
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86. (c) Perimeter of triangle = 3 x 28 = 84

87. (c) Let, the length of each of two equal
sides be xcm

Area,l X XX X
2

X =800

2

x% =160

x=40cm

Hypotenuse = Base® + Perpendicular®
H* = B% + P*
= (40)° + (40)° = 3200
=4/3200 = 4042 cm

88. (c) -+ A and B together complete 5/7 part of
the work therefore rest 2/7 part of the work will

be completed by C alone
~ Wages gotby C is 707 x g- =T 202

89.(b) ? = 9932 + 882 + 314 — 7171- 630
=11128 - 7801
= 3327
90. (c)
350 372 396 [@27] 450

ITITITIT

+22 +24 +26 +2
91. (a) Numbers greater than 5 but less than
9=6,7.8

Numbers greater than 7 but less than
11=82910

- Required number =

92. (d) Let, the principle be ¥ x

XX5x3 Xxx5x2

100 100

1000

- 150-100 =

= 50=-§-=>x=
20

93. (a)
X+ (x+2)+(x+4)+ (x+ 6)+ (x+ 8)
5
= 5x+ 20 =55
_55-20 _ 35 _

- Mean of last three observations
:(T+4}+{?+6)+(7+B]=§
3 3

=13
94. (c) Result and speed of both the trains
=52 + 28 = 80km/h
Result and length of both the trains
=154 + 246= 400m
Time taken by trains to cross each other

400 _ 18x 400
80 x 5 400
18
=18sec

=1

95. (b) Let, first part be x, then second part
is (94 - x)

x— (94 - x)x—-=3:4

oul—»

Bx -
594-x) 4
=5 32 x=15(94- x)
=  32x+ 16x=1410
x=1410 _ 59
47
. 30 and 64 is the answer.
96. (c) Let, the length of second train be x
meter
Relative speed of both train
=40-22=18km/h
Length of both the trains = (x + 125)m
T 125
18 x 2
18
= x=300-125=175m.
97. (c) Let, the number of males and
females be xand y.
X+ y = 8000 ekl
According to the question,
106x 110y _ — 8600
100

careere com’

98. (b) Let, the ages of A, B and c10
years ago be 5x, 4xand 3x

.. According to question

5x+ 4x + 3x+ 30=150
= 12x=120=x=10
.. Ratio of ages after 10 years
=(50+ 20): (40 + 20): (30 + 20)
=70:60:50=7:6:5

9. (b)-- 2 = 0.83

@l
1
1 I
P
° &
-~ R

2581298
1
o
@

:. Smallest fraction = 3
37

ﬁ"—07’7

584

231 _ pes

349

199 _ nsa

894
362

478

100. (c) -

=073

.. Largest fraction = ik

\"
‘.\
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